
Choose the correct answer in each of the following:

Section 2.22.3:
1. If f x is a function whose graph is shown, then lim

x2
f x 

-4 -3 -2 -1 1 2 3 4

-3

-2

-1

1

2

3

x

y

(a) 2

(b) 1

(c) 1

(d) Does not exist

—————————————————————————————————————

2. For the function jx whose graph is shown, lim
x1

jx 
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(a) 0

(b) 1

(c) 1

(d) 3

—————————————————————————————————————



3. If f x is a function whose graph is shown, then lim
x2

f x 

-4 -3 -2 -1 1 2 3 4

-3

-2

-1

1

2

3

x

y

(a) Does not exist

(b) 2

(c) 1

(d) 0

—————————————————————————————————————

4. If f x 
x  2 if x  3

2x  2 if x  3
,then lim

x3
f x 

(a) 4

(b) 5

(c) 6

(d) 5

—————————————————————————————————————

5. lim
x6 

|x  6|
x  6



(a) 1

(b) Does not exist

(c) 0

(d) 1

—————————————————————————————————————



6. lim
x 3

2

10
sinx  3

 1 

(a) 4

(b) 5

(c) 2

(d) 1

—————————————————————————————————————

7. lim
x0

4cosx sinx
sin2x



(a) 4

(b) 2

(c) 0

(d) 1

—————————————————————————————————————

8. lim
x

7x2  4x  4
9x  5



(a) 

(b)
7
9

(c)
 7
9

(d) 0

—————————————————————————————————————

9. The vertical asymptote(s) of the function f x  3x  2
x  42

is(are)

(a) x  4,x  4

(b) y  4

(c) x  4

(d) y  4,y  4

—————————————————————————————————————



10. lim
x 5

2

tanx 

(a) 0

(b) 

(c) 

(d) 1

—————————————————————————————————————

11. If
x1
lim

f x  5
x  3 then

x1
lim f x 

(a) 8

(b) 0

(c) 2

(d) Does Not Exists

—————————————————————————————————————

12. If x2  1  f x  sinx
x then

x0
lim f x 

(a) 0

(b) Does Not Exists

(c) 1

(d) 

————————————————————————————————————————
answers: 1-b, 2-d, 3-a, 4-a, 5-d, 6-a, 7-b,8-b,9-c,10-c,11-a,12-c.


